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In Constructivism —

{A) children participate n the
process of learning passively

(B) education is teacher-centered

IC) education is child-centred

(D) education is behaviouristic

For building good character in

students —

{A) there should be chapters in the

textbook regarding character
development
(B) lecture should be given for

character development

(C] the classroom activities should
be such that it may promote
character building

(D) the autobiography of eminent
persons should be taught

In which of the following conditions

the social and emotional development

of the child will occur i good
manner ?

(A) When the child is considered
important and his feelings are
respected

(B When the child is told to learn
more and more

(C} When the child gets good marks
in the class

(D) When the child s taught
sccording to his intellectual level

| P.T.O.
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Which of the following situations will

help in the development of creativity ?

{A) When there will be limited
opportunities for learning

(B] When children are asked to learn
ANSWETrS

(C} When the solution of a problem
is told to the student

(D} When children are given
opportunities to learn on their
own

Activity based teaching emphasizes —

(A] active participation by all the
students

(B} completion of activity in specified
time

{C) play

(D} disciplined class

“If you want to teach the children,

learn from the children” indicates —

{A} Teacher centered education

iB) Child centered education

(C) Evaluation centered education

(D} Examination centered education

At the upper primary stage there is a
need of —

(A} educational and career guidance

(B) educational, career and personal
guidance |

(C) only carcer guidance

(D} only educational guidance
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The best way 1o inculcate moral

values in children is by —

(A} giving moral lectures in  the
morning assembly

(Bj putting across a situation and
asking students to take action

(€) demonstration of moral values
by teachers and clders

() teaching students to differentiate
between moral ang Immoral

students having

physical disability in a class. During

the games period they should be —

(A}  seated in a corner so that these
children can enjoy watching the
game

(B)  encouraged to 1ake part in the
Eamcs appropriate for them with
other children

(C) allowed to take par only in
indoor games )

(D) forced 1o Play with all the
students of the clags

According to Jean Piaget, adaptation

takes place through —

(A}  Assimilation

(B) Accommodation

IC] Experiences

D) Assimilation and accommodation
What  does not include jn
Counselling ?

(A} Listening with attention to the
child

|B) Talking with child in [riendly
manmner

(C) Understanding point of view of
chiid

(D) Keeping child in discipline

[P.T.O
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At the state level the curriculum of
Class [ to VIII is developed by —

jA] S.CERT.

(B) N.C.T.E.

c} MN.CERT.

iD] SIEMAT

Durng the mid-day meal, high caste
students deny to have meal in a line
with lower caste students. What will

you do ? %

{A] You will agree to make separate
sitting arrangement for them

(B} You will seek directon from
higher authorities

IC] You will convince students to =it
together and have meal

D) You will stop cooking mid-day
meal in school

Monika is good achiever in science,
but poor in mathematics. The most
probable reason is —

jA] girls are penerally poor in
mathematics

(B} parents of Monika arc

. uneducated

{C] mathematics teaching is not
cffective

(D) mathematics is a hard subject

A teacher is appointed in a remote

village, where villagers are

uneducated, school building and

drinking water [acility are also not

available. The biggest hindrance to

work in the village is —

(A} lack of school building

(B} uneducated parents

(C} lack of motivation to solve
problems

D) lack of drinking water [acility
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According to Kohlberg, the thinking
process involved in judgment about
questions of right and wrong is
called —

(Al moral dilemma
(B] morality co-operation
(C)  moral reasoning

(D)  moral realism

In a Continuous and Comprehensive

Evaluation, the phrase ‘Comprehensive

Evaluation' indicates —

(A) evaluation of whole syllabus

(B) evaluation of all asubjects

(€} evaluation of cognitive domain,
affective domain and
psychomotor domain

(D) evaluation of cognitive domain

A concept leamnt by a student in

mathematics class is used by her in

Geography class. This is an example

of —

(A]  positive transfer

(B) negative transfer

(C) zero transfer

(D} none of these

Which of the following statements is

most  appropriate  in  relation to

adolescents ?

(A} Thinking starts reflecting in
concrete actions

(B) Abrupt increase in the
Intelligence Quotient

IC) Increase in the incidence of
emotional upheavals

(D) Carefree nature towards studies

|P.T.O.



APPU-2
20, =fFm fawm § ... TH HEE

21.

22.

gfe & fAae e §)

(a) e i awEr = e

(B) S =

(C) sy

(D) ST

fimerr 1wt T Tomimrt & —

|A) TER SEIEA T T

(B feiem =t fafem svem AfF +
FETE W ¥ Ei I W

(€ B S S R
HHN S

(D) wwrEsE fEamerd w1 s
Al

“faam 1 FEw W w1 i S
gew =@ am O wem £ T foEm

(A} ETETE
(B)
(C) 0 e
(D) T |

23, HE § WWEl SHEA N TE &

T =1 e fis o —
(4) T s s oamwA §, w9
By feefit & won & eeww ¢

c) Tamnfedi #t T@ W= W OFH ¥
o &

) (B) ()

20.

21.

22.

(W]

treeneeeeeee. plys & significant role in the
development of personality.
(A) A blend of heredity and

environment

(B) Number of cxaminations

{C} Heredity

(D) Environment

The major responsibility of a teacher

ia to —

(A) maintain strict discipline

{B) provide learning opportunities as
per the different learming styles
of students

[C) prepare lesson plans and teach
accordingly

(D) organize as many activilies as
possible

“Thought not only determines

language, but alse precedes it." was

an idea put forward by —

(A) Vygotsky

(B} Paviov-

[C) Jean Piaget

(D) Kohlberg

For maintaining an effective discipline

in the class the teacher should —

(A) allow students to do whatcver
they like

(B] deal with the students stnetly

(C} give the students some problem
to solve

(D) both (B} and (C)
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If you get an opportunity to teach a
visually challenged student along
with normal students, what type of
treatment would you like to give
him /her in the class ?

(A) Not giving extra attention
because majority may sulfer

(B} Take care of him sympathetically
in the classroom

(C) You will think that blindness is
his destiny and hence you can
donothing .

(D) Arrange a seat in the front row
and try to teach at a pace
convenient to him

Which of the following best describes

the extent of effect of heredity upon

development ?

(A} Heredity determines how far an
individual will develop

(B} Heredity determines how far an
individual can develop

(C) Both (A) and (B)

(D) Neither (A) nor (B}

For maximum reinforcement effect, a

Fiwen reward should —

(4) be applied immediately upon the
response

B be applied immediately
- preceding the response -

(C} be applied simultancously with
the response

(D) follow the responsc only after a
substantial delay

The new progressive pedagogy

professes —

(A} assessment in learning

(B} assessment of learning

(C) =assessment for learning

(D) assessment along learning

| P.T.O.
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Errors made by students in classes
above 5 must be considered as
indicators of —

(Al
(B} their leamning steps
(C) their learning disabilities

their lack of learning skills

(D} their ignorance towards learning
Science and Art exhibitions, music
and dance shows and bringing out
school magazines, are meant to —

{A) train students for various
professions

=1}

i)

o]

establish a name for the school

satisfy the parents

provide a creative channel for
learners

Inclusive education refers to a school
education system that —

(A} emphasizes the need to promote
the education of the girl child
only

(B] includes all children with
(C} includes children regardless of

physical, intellectual, social,
linguistic or other differently
abled conditions
(D} encourages education of children
with special needs through
exclusive schools
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First Language — ENGLISH

In multi-dimensional approach to the teaching of English, ‘aural’ is one of the
languages which refers to —

(A) speech (B) sight

{C)  hearing |} motion

Which among the following is not a method of teaching pronunciation ?

iA) Imitation (B} Substitution

(C) Phonetic () Subsidiary

‘Diphthongs’ need continuous practice while teaching pronunciation. Diphthong is a —
jA)  long vowel (B) short vowel

(C} consonant (D) two vowels jointly used

A class VII student writes the letter b as d, has a bad handwriting, skips letters in long

words and cannot read properly. Which of the following language disorders may he be

suffering from ?

(A) Aphasia (B Semantic pragmatic disorder

(C) Dyslexia (D) Speech impairment

Which of the following principles is not considered to be true for English language

curriculum ?

{A) Language skills are independent

(B] Language learning is learning to communicate

(C) Language leamming is most effective when it takes place through meaningful and
interactive tasks

(D} Language varies

Directions | 36-37 ) : Choose the correct word to complete the sentences given

below —

| have to write the QUESLION PAPET (ot ink-pen.

{A) with (B) in

(C) by (D) from

My father prefers coffee ........oininan tea.

(A) than B tw

(C) from (D) for

Directions ( 38-39 ) : Mark the correct word of spelling to complete the sentences
given below — :

Indian Railways started ..........occoiaeeinns train to Allahabad during Kumbha.
(A]  spatial (B) expecial

{C)] special (D) spacial

Teachers are doing .......orevceeves work.

{A}] inovative (B} innovative

(C) inovetive (D) innoevative

002 | P.T.O.
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Directions | 40-41 ) : Choose opposite of the itabicized words —
Mr. Jain is an afffuent trader,

(4)  wealthy (B] healthy
[C) rich (D} poor
Children are quite optimistic about their learning achievements.
(A) realistic (B peasimistic
[C}) pragmatic (D] negative

Directions | 42-43 ) : Questions have been divided into four parts as A, B,  and D.
Une of the four parts has an error. Find the error part and mark on the answer shect —
The house I have just buy is very big.

A I: TR e
Students are judped on the basis
A A= ok G ef

Diruﬂunnlﬂ-ﬂ?]=Fuuraltemnﬁveuﬂuﬂ,{:andﬂmgiwnunder:achmtm.

from their personality also.
D

" Select the most suitable alternative to fill in the blanks in the sentence to make it

meaningiul —

| incuired _................. I:um sisrimansananesns HREL mAtteT. :

(A) with; for (Bl of; into

IC} to: against (D) in; from

Any one can appeal .............. a higher court and apply ................. a fresh trial.

(&) at:in B} on; out

iC)] to; for D} with; to

The children are so ................ that their parents are thinking of sending them to
R school.

(A}  wunruly ; boarding ; (B)] small ; high

(C) misruled ; lodging (D} naughty ;. neighbouring

Though she i% 80 ......ccoovviemicionares by nature, but she doecs not like that any stranger
should ...............__.. in her privacy.

(A)  salubrious ; interfere (B} garrulous; meddle

(C}] gregarious ; intrude (D} lugubrious ; lonely

Directions | 48-49 ) : Choose ‘one word substitution® for the italicized part of the
sentence given below —
He is the person whe hates all mankind.

(A} Misogynist (B Monogamist
(C) Philanthrope (D} Misanthrope
A child born after the death of father.

(A) Pessimist (B} Posthumous
[C) Pacifist (D] Orphan




51.

22.
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Directions ( 50-51 ) : Choosc the suitable option that describes the meaning of the
phrase or words shown italicized —

He frequently goes back on his words.

(A} repeats the words (B) confuses others

(C} stumbles (Dj breaks his promises
I cannot put up with that nasty fellow.

(A} appreciate (B} endure

€} control (D) forgive

Directions ( 52-83 ) : Choose the most suitable sentence which conveys the exact
meaning in accordance with the correct grammatical rules —

(A} She-is not as wise as her brother

{B] She is not equally wise as her brother

IC} She is not as wise like her brother

(D} She is not so wise as her brother

(A) H}rm&terisihrpuc@andthephﬂumphﬂ

(B} My sister is a poet and the philosopher

(C} My sister is a poct and philosopher

(D} My sister is a poet and a philosopher

Directions | 54-55 ) : Choose the correct word to complete the sentences —
Shakespeare and Milton were great poets but I prefer the former to the .

(A) last (B} latter

(C} later (D} latest

Hyousave ............._.... money everyday, you can get a good sum in the year.
(A) alittle (B} little

(C}y the little (D) fewer

Directions | 56-60 ) : Read the passage given below and answer the gquestions by
choosing the correct alternative that follow —

The saving of certain wild animals from extinetion has for many years been a problem
for zoologists and other specialists ; but more recently the problem has become so
acute, and has recetved so0 much publicity, that most people are now concerned about
it. This may at first seem strange because one of the most gratifying developments of
the last few years has been the passing of strict laws to protect wild animals and the
consequent decline in the hunting of big-game for sport. Why is it, then that some rare
wild animals are still threatened with extinction and even some of the less rare ones are
rapidly declining in number ?

One reason is the ‘march of civilization’, When an area is wholly cleared of vegetation to
make room for new towns, factory sites or hydroclectric plants, the nataral home of
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o9,

several specics is destroyed. The displaced animals must either migrate to another area

or perish. Even the clearing of land for a road or an airfield may involve ‘pushing back’

the jungle, and the smaller the area in which wild animals compete for a living, the

smaller the number that can hope to survive.

Civilization brings, too, swift and casy transport and so assists those who are

determined to break the various protective laws. Thieves can clude the game wardens,

shoot an elephant for its tusks, a rhinoceros for its horn, or a deer for its meat, and be

miles away from the site of the crime before the dead or dying victim is even discovered,

It is sad to reflect that civilization which can bring so many benefits 1o people who have

previously known only hunger and misery, brings also facilities for the heartless

criminals who, for material gain, will slaughter some harmless animals and threaten

the disappearance of its kind from the earth forever.

What problem is being faced by zoclogists and other specialists ?

(A} The migration of animals to other areas

(B The saving of certain wild animals from extinction

(C) The declining number of less rare animals

D) The clearing of jungles for building of new towns

Why is there a decline in the hunting of big-game for sport ?

{A)]  Strict laws have been passed to protect wild animals

(B} Very few animals are left in the wild

(C)] Animals have been displaced due to building of roads

(D} People are not allowed to keep arms

What is the meaning of the word ‘gratifying’ as used in the passage ?

{A] Unpleasant [B] Threatening

{C) Harmful (D) Satisfying

How does modern transport threaten the survival of wild animals ?

{A] Roads are built through jungles

(B) Animal parts like tusks, horns etc. can be easily carried away

(C) Fast and easy transport assists those who break the various protective laws

(D) Animals are killed by fast transport

How is the natural home of several species of animals destroyed ?

{A)  Due to ‘pushing back’ of jungle for a road or airfield

B} Due to clearing of a whole arca of vegetation for making new towns, factory sites,
roads etc.

({C} Due to ighting between animals

(D) Due to natural calamities
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23 APPU-2
Second Language — ENGLISH

Directions ( 61-62 ) : Select the most suitable alternative to fill in the blanks —

Those who Hve in .......ccooiemenni houses, should not throw .........cccccooviminnns at others.
(A) big; abuse ! (B)] owe ; challenges

(C} stone ; bricks (D) glass ; stones

I e S s thinkers are nol intcrested in propagating .................. wdeas among
MASEes.

(A) practical ; ideal (B} original ; hackneyed

(C} religious ; spiritual (D) secular ; political

Directions | 63-64 ) : Choose the most suitable sentence which conveys the exact
meaning in accordance with the cormect grammatical rules —

(A} It is strange that you don't know swimming,.

(B) It is strange that you dont know how to swim |

(C] It is strange that you don't know how to swimming !

(0} It is strange that you don't know to swim.

(A] Everyone knows that he is nothing else but a cheat.

(B} Everyone knows that he is nothing else than a cheat.

(C) Everyone knows that he is nothing else except a cheat,

!'Di Evervone knows that he is nothitig but a cheat.

Directions | 65-66 ) : Fill in the blanks with suitable form of verb —

No one is allowed to ..............c.o... . the trees in the forest,

(A] fall : (B} fell

(C) fallen (D) felled
Remember ...............5 your temper even when provoked.
(A) notto loosc (B] notto loss
(C}] mnotto lose (D) notto lost

Directions ( 67-68 ) : Choose among the options marked as A, B. C which is an
improvemnent upon the italicized part. If none of three options improves the sentence,
then the answer is D,

There is nothing quite miserable than illiteracy in youth.

{A)] as miserable (B} wery miserable
[C] more miscrable (D) no improvement
The sky was overcasted with clouds.

(A) had overcast (B) was overcast

[C) was overcasting : (D) no improvement

ooz | [ P.T.O.
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69.

70.
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74,

76.

Tr.

Find out the ‘adjective’ among the following options —

(A} Gorgeous (B] Inculcate
(C) Pedigree (D} Undertake
Choose the word similar in meaning to the word ‘Gencrous’ —
(A] dismal B] immense
{C] timid (D] benevolent

Directions ( 71-74 ) : In the following passage there are blanks indicated as 71, 72, 73
and 74. You are required to fill the numbered blanks from the suitable options given at
the end of passage —

"Our scientific spirit must be shocked not only by the ... TI ..... of fabulous ..... ? 2 .....
and ...7S.. poverty, but also by those of intcnse holincss and ... ...
superstition.”

(A) phenomenon (B contrasts

(C) existence (D} comparison

A} property (B) prosperity

(C}] resources (D) wealth

(A} common (B) rampant

[C} grovelling (D} growing

(A) religious iB) blind

(C) popular (D} prevailing

One who specialises in the study of birds 15 called —

(A) . Ornithologist (B) Psychologist

[-Fl Toxicologist . (D} Ethnologmst

Directions | 76-77 ) : Choose the most suitable alternative to make the sentence
logical in sense —

The teacher ....... gt us to attend his class.

(A} advice iB] adwisc
(C)]  adviced : D} advised
Iridia is ................ in the North by the mountains.

(A]  bind (B] bound
T} bounded (D) binding
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Directions | 78-79 ) : Find out the incorrect part of the following sentences which has
an error. If there is no efror, mark D as your answer —

Neither Rahul / nor I-El'.anm / have done hés homework. / Mo Jjgrru:rr

A
Sixty five years have passed since Indig became free. No error
A / B / C AR

Dlnmﬁnnﬂmu:(:hmememmﬂynpultwmd-

(A Aesthetic iB) Asthetic
IC)  Acsthatic D) Asethetic
A  Received B Recieved
€] Resicved (D)  Recived

Directions | 82-83 ) : Choose the word from dmong the options, opposite in meaning of
the word in capital letters —

FACT

(Al false (B] real

(C) fiction D) imaginary
PRUDENT

(A} silly (B)  unwise
(€} idiot (D)  poor

Directions | 84-85 ) : Choose the sentence of correct Punctuation —

(A} The king, said to his courtiers “Is there no one who can venture an answer 7

(Bl  The king said to his courtiers, “Is there no one whe can venture an answer 2

C] The king said to his courtiers, “Is there no one who can venture an answer.”

(0] Thelingaajﬂm}:jscuurﬁm,'hthmnuﬂmwhucmvl:ntun:nnanmﬂ'

(A}l She said who is there 2 (Bl  She said who is there

[C)  She said, *Who is there 7 ID)  She said that, *Who ig there "
Directions | 86-90 ) : Read the following passage and answer the guestions that
follow —

ul'himlltlflndh'u.muntry.Eutr:aﬂyrhtmisnnp&ramwhﬂhasnntgﬂlmcgnud

“and some bad qualities. In the same way, there is no country which is partly good and

loo2] [PT.0.
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86.

a87.

89,

partly bad. We must take the good wherever we find it and try to remove the bad

wherever it may be,

We are, of course, most concerned with our own country, India. Unhappily, it is in a
bad way today. Most of our people are poor and unhappy. They have no joy of their
lives. We have to find out how we can make them happier, We have to see what is good
in our ways and customs and try to keep it, and whatever is bad we have to throw

away. If we find anything good in other countries, we should certainly take it.

What do many Indians imagine ?

(A) that India is great

(B} that in many ways India is the greatest country in the world
(C} that lnqiﬂ is greater than England

(I} that India is the greatest country in Sl:ﬂ..;.ﬂ'l Asia

In what respect is India in a bad way today ?

(4) that some of the people in India are rich and happy

(B] that all of the people in India are happy and hopeful

{C) that most of the people in India are poor and unhappy

(D} that most of the people are rich but unhappy

What should we throw away ?

(A) that whatever is good in our old traditions

(Bl that whatever existed in our old beliefs

(€}  that whatever we see good in other countries

(D) that whatever is bad in our customs and tradition

What should be our attitude towards other countries ?

{A] We should neglect what Frenchman are proud of

(B} If there is anything good in other countries, we should certainly take it
(C) We should refuse anything German people like to do

(D}  We should not readily refuse whatever good is there in other countries
What do people think in every country ?

(A} that they are not as good and as clever as others

(B} that they are the best and the cleverest people in the world
(C}] that people of other countries are not very clever and good
(D)  that most of the men of their country are rich and clever
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2007 (B 2008 (A)
2011 (py 2009 ()
':"'..-!';,, Lﬂffl}jl..&: i‘-‘u}}.ﬁuﬁf;:}i_kﬁr;k'ﬁ;

7 (B el (A)
stle () & (o
te L AST s A,

(B | J:: (A)
Able ) /Y (C)

° rncfﬂﬁuw’lrfﬁ:fuﬁv’&#r-’{

1980 (B) 1908 {a
1900 (D) 1907 (C)
&AL g

/7

bede @ bl ()
Foe o) s o

T

.78

-850

B1

.82

83

002 | P.T.O,



;!.Ffr-m:g:
ﬂ""él.'f'd‘: E,r.c'n-*-.%

AL
s 2

o 1827 = ¥
W 1835 20/

.._,J:..-,ﬁrr
L

f23s wer

i

.IG.-L.J.LJ}(
Nt

..r‘h,Jﬂ

o

34

(B)
(D)

(B)

(D)

(B)
D)

(B)

(D)

(D)
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(B)

(D)
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91.

92.

93.

94,

95.

35

nfore we fawe

Mathematics and Science

At 64" + "% w pa?, o S faes
| 7 )% ¥ 9 HET —
(A) 3 Bl 5
< 7 D)y 9
“ﬁ:ﬂzvla+ﬂ3+33

b =17 + 27 4+ 3% 4 43

=P+ 43344345
-Tﬁa+b+¢ EF["FIFI#—
{A) 33 (B) 31
<c) 27 o} 25
UH HHIRYE o UHN wie &) e
dta witet =n v feam = k) ww

Fmt & ot o wiodt =7 g g —
(A)  150° (B) 180°
C) 2100 (D) 540°

U VAR QU ) IR 9w 7 |
st 6 = %) vewm 1 9 99 S
o = BN 2

W 3 ® 2
© 2 D 1

a8 sy o g’ 62 7

[A) 23 swam7E

(B) % wm F ¢ o s ow i
B &

[C) ¥ 7,28 sHAmME 7

(D) 2 3R 5% 9 ek

. U oA = a5 it o« 2 w9« 5 S

£ OH ford o9l & wEm e o
U S A S £ 2

A) 32
) 25

By 16
D} 20

92,

93.

94.

93.

If 64’ +4'% =647, then it will come
in place of question mark [ ? ) —

(A} 3 B 3
< 7 Dy 9
fa?=1"+2%+3?

B =120 434 43

=142 13744545
then the valueofa+ b+ cis —
A}y 33 B 31
<) 27 (D) 25
The alternate vertices of a regular
pentagon are joined to form a star
having five vertices. The sum of
all five vertical angles of this star will
be —

1A} 150° (B) 180
<y 210° (D) S540°
A positive integer is selected at

random and is divided 7. What is
the probability that the remainder is
not 1 ?

L 2
© 2 D) 1
Which of the following is not a
‘proposition’ ?
(A) Sumof2and 5is 7.

(B} An angle consists of two rays

and one vertex.
(C) Is7Tthesumof2and57?
(D) Sum of2 and 5 is 6.
A cuboid is of dimensions
Scm x 2 cm x 5 cm. How many
such cuboids may be joined to form a

cube 2
(A} 32 B) 16
<) 25 D) 20

[ P.T.O.
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97. = # & #% ow wept dwn b 2
(A} 28 (Bl 36
(€ 10 (D) w5 & ot

o8.

U S99 7 | o 9w f, el @ v
= E w9 3w ¥ wm ok 3
aw % 4 Frea A @ #aew s
saFEmk 7

(A} 1:1 B 1:2

i) 1:3 D) 1:4

T X F A F9E A, pAU C o FEw
25, 40 37 35 foondt &1 9 4, BAw
C T WA o sthew s wwe
70%, 65% HT 50% & T we X &
Ao e

60% (B}
61-66% (L)

61%
65%

E’L
100. foew mrais 4 farnfivat gy =6 weft e,

101.

102.

103.

™ IR & wvh, sETmE TEe W
TS, PN T OUNE AN i

FAE 7
(A) P gt
(B) ToHE qediEy
C) viErsTer geatea
(D) FRETHS qegiw
TH WA GgE H @ @ o8, v o
S & ST & I & s b A
W w1 e 12 25 6 Boga wn
B —
(A) 12 @ (B) 1042 #t
(C) 9 @nt D) 5 &
AfE 9 FAE il W g S8, & e
HEE 92 PitE %1 79 S % uef # g —
5-10 S+5
(A) Tp— (B) 3

S+ S+1
© =22 o 5310
U S Wi 9 5 faersr ufam ew

® 1w faed) o o ot faend &
A U d@e w2 T e
we AT

(A) 10 B) 12
() 16 D) 20

97.

100,

101.

102.

103.

(W]

Which of the following is a perfect
number ?

(A) 28 {B] 36

(<) 10 (D) All of these
A box contains a dozen bulbs in
which few are defective and remaining
are good. Which of the following
cannot be a ratio of defective bulbs to

good bulbs ?
A} 1:1 (B} 1:2
e B D 1:4

There are three sections 4, Band Cin
class X with 25, 40 and 35 students
respectively. The average marks
obtained by sections A, 5 and C are
T0%, 65% and 50% respectively. The
average marks of cntire class X is —
(A) 60% B 61%

€] 6166% (D) 65%

Which evaluation involves gathering
information about the students
errors, reasons for those errors, depth
of conceptual understanding, effective
means of intervention ?

(Al Diagnostic evaluation

{B)] Formative evaluation

(C] Prognostic evaluation

(D] Summative evaluation

In a right triangle, the square of
hypotenuse is equal 1o twice the
product of remaining two sides, If the
base of this triangle is 12 cm,
then the perpendicular of triangle

will be —

(A 12em (B) 1042 em
(C} 9cm Dy 5cm

If the sum of five suceessive integers

arc 5, then the value of largest integer
in terms of §will be — .

S-10 S+5
(A) = (B) 3

S+5 S+ 10
1€ 3 () 5

In a sports competition, 5 players are
participating. It is compulsory for
each player to play match with every
other player. How many matches will

be played ?
iA) 10 B 12
(C) 16 D}y 20
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104, Wew fam § ABCD ™ PORS wH| wHrR

APPU-2
104. In the given figure, both ABCD and

“T'I'i'_" (o PORS are the parallelograms. The
i value of 8 will be —
[ =
Y 2 5 & D 8 < R
= 1200\
s 700

A B P Q i - - o

Ay S0 (B 45° (A] 50° B 45°

L AR L
105. -|l EL i . : !

105. Which of the following options does
W A MR TR % wtere are geed not demonstrate the achievement

w1 W =7 WS A8 S B 7

(A} Temdt vty 45 ) mrEw #@W
T % TrE WA e

(B) Tl t-we mro we &)

of skill objectives of teaching

school mathematics in upper primary

stages 7

{A)] The pupil handles geometrical
instruments with ecase and

proficiency.

() Fevereit T W war waen fafaa (B) The pupil measures accurately.
TR & B (C) The pupil solves routine type of
D) Fewndt Fofign oitwem wo sl problems using a formula.
dEm & s R (D) The pupil does  written

calculation with case and speed.

106, fdil Few 0 4% s == & WA 106. The difference between the simple

UrE B A 2 94 % OMEW s e
wwglE = w1 3w 10 To k) P ow

interest and compound interest on a
certain sum of money at 4% per

Bl annum for two years is Rs. 10. The
T sum will be —

(A) 4,500%e (B} 3,550 %° {A] Rs. 4,500 (B) Rs.5,550

(C) 5.750 e Dy 6,250 %o fC) Rs. 5,750 D) Rs. 6,250

107.X, YRS A Isme A Y, ZH

AR T A e b z g 2 T A
W T gt w1 X BRas wem # o w2

jA) 24 W=z

107. X runs twice as fast as ¥ and Y runs

thrice as fast as Z The distance
covered by Z in 72 minutes, will be
covered by Xin —

(A) 29 minutes

B) 18w (B) 18 minutes
[c) 16 e {C) 16 minutes

2 fe D) 12 minutes
D) 1

[PT.O.
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108,

110.

111.

WA T fwsdt it 8 o Rt g
v fawat & o B s = geen
B oft faemfl & g= owiE g8 @ A
s, farm @ amfes fam & s
weiE, B & 1A F $w g |
e sifires & 2

(C) <8 Dy 30

. n WEOT W A k) ofr g e &

m? - m+1 7E T @ A oo =
= B —

@ m?-1

(B) m? +2m+1

b
i) m_tl
n

D) 1+m?
v 9 W ofew, e Bow 175 i
t, 31 e & 1200 =57 mw B
Ty —

(A} 10 Hie /A
(B} 1171/ d=v
() 12 Hiew/dwg
(D} 125 HRT/Gwre
w g e =AM @ o g den
;’mh'qﬂm#quﬂm

(A) FPT =T FEEE
(B) drT w1 WA T
(C) g & Heger o
(D) BT SO w1 T

108,

109.

The given Pie-chart shows the marks
scored by a student in  different
subjects in an examination. If the
total marks obtained by the student
be 648, then marks scored in English,
Science and Social Science exceed

the marks scored in Hindi and
Mathematics by —

(A} 66 B)] 54

iC) 48 D)y 30

The mean of n observations is m. I
m2-ms+l i added to each

observation, what will be the value of
new mean 7
(A} m* -1

(B m2*2m+1

]
(C) m_+1

. (D) 1+m?

110.

111.

The wheel of an engine, 17'5 ¢m in
radiuns, makes 1200 revelutions in
two minutes. Speed of the engine is —
(A) 10 metre/second

(8) 11 metre/second

(C) 12 metre/second

(D) 12:5 metre/second

The sum of two whole numbers is

also a whole number.’ This property
of whole numbers is known as —

A} associative property of addition

(B} commutative property of
addition

(€} closure property of addition

(D) property of  componendo-
dividendo



112, =fz (3a + 5p) a-5b)us:) 5 & L1218 (30 4+ 54 (3a-5bjus.g then the
a: b iy value gf o 5 will be
A) 3.2 (B) 5-3 (A) 3:2 B) 5:3
i© 2: D) 5:3 9 237 D) 5:2

U13. %25 x 2 g Y ey 113 thﬂmmmﬂnﬁﬁ“mm';ﬂ
jzmﬁﬂwwz%amw:rmanﬂh 804 ¢ production uI!‘Pl‘-‘:;IPnn:.rE

xrﬂhzmmm%nw The respective ratio e

- I Er;:d:mun of companjes X, ¥ angd
B 4:3:5 ) 4:3.5
B 6:5.9 B) 6:5:09
ICl 10:9; 3 I€) 10:9. 35
D 12 10: 15 L) 12: 10 15

114. %9il 6, 6, 9, 14 g O 8% miwey g, The mean of the mediar, e of
TEEE Y Il:i:ﬂbﬂl!r?&tlﬂnﬂﬁ.ﬁ 9, 14, 8,99 5
(A &5 IB) 8625 4 =5 (B) 8625
C) 87s D) 89 (C) - 875 D) 89

115. "t gy o & s E, At I]S.'?nah'iangle.il'muslde&nreﬂquﬂl.
mqmaﬂ%mfwﬁuﬁuﬂﬂmﬂm then the angjeg PPOSite 1o eqyuq)

sides  hgye equal Measures.” The
m-.rem:::fthia theorem will be —

(A) wﬁwfﬂﬁ':’raﬂrﬁﬁiwﬁ (Al In angle, if ihe
m’lﬁaﬂmmﬂ a&ﬁqm} nprp:;:ite -f-rfeu have me;ﬂu;;
mmﬁ mu;ures,ﬂleuthenmndum

equal.

(B) wﬁ%ﬁ.ﬂﬁﬁw‘quﬂ B) In a triange, i, side ot
tﬁmmwﬁmw it then the o ol
ﬁﬂ;ﬁ-}. mmEHthﬂi‘dtﬂﬂuMI have

: “qual measyy,

C) T fqwr 4, ofe & €) In a trangle, ir ;, Measures of
B w5 oy -'-E':f‘#,Fﬂ‘i‘:H ’ﬂ]:lgi&ﬂp]f::] tlnnl?wumdﬂ
Wﬁmqﬁﬂ;ﬁh nutequﬂ.l.lhtnthnt'w:ldesﬂrﬂ

Nnot equg)

D) ¥ & ai (D} all of these
lﬁqmmmjmﬁqzﬁﬂwﬁam uﬁaahupkceperuenazsbmhmth:
T = = Fate of after
i:m!' Shasy Hﬁrmﬁ;ﬂﬁ lmﬁﬁimunlandnmﬁﬂ%pmﬁt,lf

msnxmmm | afg I'.hndl!rl:ﬂ'llntl not given, n profit
qa?ﬁm&a}whmmm-— Percent wil] pe

A) 609 B) 665 A} B0 (B 66%

€ 66do; () 662y, € 66ls D) 662
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' IIT.ﬁﬂmﬂﬁHﬁiﬂmﬁHﬂrmﬁﬂ
Ty o0 Ft FE gEET w445 Tk
ATy T g e B —

(A) 320 02
B) 365 HAR
[C) 38045 #AF
(D} 400 @41

118,74 dEd 3 ;4 : 5% s A ko
S IR WA 2400 § | 3 Hewad

R e o g
iA) 24 B} 36
(C) 40 ) 60

119, T Temn sl g fowr @ s &
o W T A T —

(A) T w1 femm s T,
e wel, sfopdel, wia #
ey g &, sl R & e
o & & WRE g E
Far e § HEe A W
daz vl b omfs e & Temor d
s #i Bt SE WA
=1 o d9 BR R

o ow weE A fwe b, el
Faror= o wrpfer T 1

Fggr % Ty &, ofoms W
QRO A W W £, FEe
nm # ¥ dwiEm dfom ®
mams & e mErieom 0
HHA T

(B}

()

()

120, T dEN W 899 ® WmM ¥ W ¥EE
63 W e i afe S wem W 29 °

ey Femr WA A AEES BN —
Ay 3 B 5
i 7 D) 9

40

117. The sum of the length. breadth and
dl:pﬂ'lut'n:uhnidiliﬂr:munditu

diagonal is 45 cm. The surface area
af cuboid will be —

(A) 320 cm?
(B) 365 cm?®
ic) 38045 cm?
(D) 400 cm?
Three numbers are in the ratio of
3 - 4 - 5 and their LCM. is 24.00.
Their H.C.F.is —
(A) 24

118.

(B 36
iC) 40 (D) 60

In reference to difference between
teaching of Mathematics and teaching
of Science, the wrong statement is —

(A) Teaching of mathematics starts
with undefined terms, defined
terms, axioms, theorems while
teaching of science starts witk
well defined terms. -

[B) Teaching of science involves only
deductive process while teachin|
of mathematics involves |
combination of both inductwv
and deductive processcs.

Mathematics is a man-mad
universe while Science is
natural one,

in teaching of science, th
regults arc validated throug
experiments, in teaching ¢
mathematics  cxperimentatio
are the mecans to verify some
the probable results.

A number when divided by 899 give
a remainder 63, If the same numbs
iadii'idutihj29+thcremamﬁernﬁ

119.

i)

(D}

120.

be —
(A) 3 B S5
icy 7 D) 9




1

l""d

UE W UF GEH W ® OgHE M W

" HEET T AT E, W A —

122,

123.

124,

125,

(A) = i R & s
(B) W T % R
(C) T % g

Dy ¥4

v fawm o fawm O =t o S
dafi wr oEm k —

(A) IR F TEFED WW 7@ W

B i TR E T

ic) TEmnfest & arcfas 30w 79 ¥

Dy foefod & fell meR ® smend
q T4 w7

F WEF W O W UF W A He
SR ¥, W R Gk § 4 SRR S
¥ ww o Fard A —

(A) 1965

(B} 39-27%

(C} 1568 7

(D) 7847

I M UR] & FTEAES W O§F T W
e 79 MHPO, ® ?

(A} MCl

(B} MCl,

[C) MCly

(D) M,Cl,

FeTT U o — .

(A} TF WM AR HNO, W d@F WM
HFE HC

@ wm BE HNO, W @ Wm
W% H, 50,

A9 W &% HNO,; U6 T WM
W HCL _
5 W W H,S80, T @ W
R HCl

B

(€

()

41

121.

122.

123.

AFPU-2

A particle is revolving on a circular

path with uniform speed. Acceleration

of particle is —

{A) along the circumference of circle

(B) along the tangent

(C) along the radius

(D} zero

A science teacher can enhance

science learning process by —

{A) settng uniform standards of
expectations

(B) setting extremely high

expectations from students

setting realistic expectations

from students

not having any expectations

from students

A stonc dropped from the roof of a

building and takes 4 seconds to reach

the ground. The height of the building

will be —

(A} 196 m

B 392m

(C): 1568 m

D) 784 m

(C)

Dy

124. What will be the formula of that M

125.

metal chloride whose
MHPO, ?

[A) MCI

B MCl,

(C) MCly

(D) M,Cly

Aqua regia is a mixture of —

formula is

{A) one part conc. HNO ; and three
parts conc, HC]

(B) two parts conc. HNO 5 and two
parts conc. H,50

[C) three parts conc. HNO ; and one
part conc, HCI

(D} two parts conc. H, 50, and one
part conc. HCI1

| P.T.O



APPU-2

s

127,

128.

129,

T W HUW ST 440 &) vm D
22 WH & NTP 9 3 0AS 85 —

[A) 2247

B) 2247

(C) 1124

D) 112 7

R AR wEien favee w ot e W
WIS HEwS i ek —

(A) e

B) %W

(C) Fhe

D) =&

= 4 ¥ 50 o9 & g wiwst § oedm
Lo Rt TRl

(A) At

(B) e

(C) =

(D) o

T Hyewol & frar © W e e R —
(A) CO, & Fzm

(B) WERTET Sl 1 HEEIEUT

0 TR ® o R G oas

130,

g
(D) H* Sm=1 % v e
(rwetters) foran o o
st o ay § Frt —
A) A E
B) =1 FAE 9§
(C) == FvEwE | 56 6
(D) FEEA Ho= TF T =

126.

127.

128.

129.

130.

Gram molecular weight of a gas is
44-0. At NTP the volume of 22 gm of
this gas will be —

[A) 224L
(B) 224 L
(€} 11-2L
D) 1121

The colour of the precipitate obtained
on heating glucose with Fehling
solution is — :

A} Yellow
(Bl Black
(C) White
D) Red

Stomata will open,  if there is
accumulation of .............. element in
the guard cells.

(A} magnesium
(B} potassium
(C) iron
D} zine

What function
photosynthesis ?

{A] Combines with co,

water does in

(B} Absorbs light energy

[C) Supplies eclectrons in the light
dependent reactions

(D) Transports H* ions in the light
independent (dark) reaction

Gymnosperm is a plant which —

(A) bear flowers

(B] produces seeds in cones

[C) does not produce seeds enclosed
in ovary

(D) exhibits no vascular tissues
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131, i oliferr Tt e 3% wEEl 6 g 131, Pair of physical quantities and their

fo w2 &) e g = wE i — units are given below. Select the
(A) BT — ¥l NPT EER T
'Ih.} ].I'.I.d'l.'lEt-Ell'.lEE —_ 'I-l.n:u'_}*
" L (B) Viscosity ~ — Radian
13- T (C) Magnetic field — Tesla
(D) =M — O (D) Pressure — Pancal
132. 9 & = # B § | SR w6 132. Which of the following statements is
TR 7 wrong aboul yeast ?
(A) Fr T W WA (A} Yeast have protein
' (B} Yeast have Vitamin B complex
(B) URE ¥ w-wEEEE WF W EerEE :
ok
{C] Yeast helps in fermentation of
() dieg T w feuee § WEEE § sugar
(D) Fe s A (D) Yeast is an algae

133. Crops and its hybnmd varieties arc
given below. Match the correct

133, 919 wEw W sl et W few
it ¥ 1 v aE e i —

pairs —
o s Crop Variety
(a) ) TE WA (a) Wheat £\ Bvisa Komel
(o) i) femfi (b) Brassica (i) Himgiri
c) ke fiii) T FERERR jc) Cowpea {iii) Pusa Sadabahar
@ (iv) T = (d) Chilli (iv) Pusa Swarnim
a b c d NPT ¢ d
YR W G v A @ 11.4 (i) [].Tr,b
® @ ) ) ) ® @ @ v
© @ @ W cr G 6w (@0

& i I i i
D @ (9 W (i) Dy @ e 6

002 [ P.T.O.
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134. et & & e sig gfE —

135

136.

137.

— @M I O e

— & I W ey

— W T W oy
wafuf

— & g e

A) =iE

IE] i1 Gl
c) &

(D) w®FN

% T e % feg fame femo

ﬁq-mﬁmwmhmmﬁmmw’rt?
(A) TETEST EhE

(B) 9 #¥

(C) T Fiwwr

(D) EFET FEE

T i fww iz & ww oa e
Li i

(A) FTEEIG
(B) Hmgwi=
(C) Wi
(D) Wafafa
TF T w9 w998 = §
T g = 98 Hizy 3 a2 b 3w weg

R TE EAT —

(A) ¥

(B) 98 fwm
(€] 100 fEm
(D) 1-0 fism

138. fast fivg o v w7 arfies B —

(A) = A

(B) e o

fC) vl & S
(D) 45° i o

44

134.

135.

136.

137.

138.

(W]

Choose the incorrect pair from the

following —

(Al Sapodilla — - edible part
pericarp

(B] Rice — edible part
endosperm

€} Indian plum — edible part
mesocarp

(D) Banana — edible part
thalamus

Which teaching skill is most

important to a science teacher for
teaching science ?

(A)  Introductory skill

[B) Questioning skill

(C) Mustration skill

(D) Explanatory skill

Which pigment is the cause of red
colour of tomato 7

(A)  Lycopin
[B] Cyconin
IC} Solonin
(D) Capsisin

The weight of an object in a place is
98 newton, where the valne of

g = 98 m/sec?. The mass of that
object will be —

(A) =zero

(B) 98kg

(C) 100 kg

D) 10 kg

Weight of a body is maximum at —
(A} poles

(B} equator

{C] centre of carth

(D) at latitude 45°



139.

142.

45
Frer # @ 7 0l o b

(A)

D) MEFwA

‘i w1 sogediotodle ATT ¥ —
(A) WR-1, 2, 3-ZHENE

B) 1,23 ZEF B

1, 2, 3-21% SEwEH

(C}

(D) ZTEWITE T

APPU-2

139, Which of the following is the largest
ear-ossicle ?

(A} Incus

(B} Stapes

(C] Stapedial plate
(D} Malleus
140. Functional group of wax is —
(A} ketone
(B} alcohol

iC) ester

(D) carboxylic

141. ‘Fog is a colloidal system which

involves dispersion of —
(A)  gas in liquid
(B) lLguid in gas
(C} gas in gas
(D) gas in solid

142. IUPAC name of 'Glycerine’ is —

(A) Propane-1, 2, 3-triol

(B) 1,2, 3 Triol propanol
(C) 1, 2, 3-triol propanone

(D} Tripropyl alcohol

| P.T.O.
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143, FHIHTN A + 28 « ¢ F Fom wrm ks

= SEE E

w i ® e

misr @ FhiE

144. U FIEETE 27T B

(A) 107 S=v

B) 10710 Fwvg

€} 107° dwwg

D) 1076 Fwee

145.uﬁtaﬂ=r§amm$ﬁw‘fqg
et k2

@) b W TR oA oW o &
w
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(W]

143. Expression of equilibnum constant
for the equation A + 28 » Cjs —

LAlBl [AJlB]
—— B

(A) IC] (B [C

C] IC]
C €] O
s [AJIBJ sk 2[A] B]
144. A nanosecond is equal to —

iA] 107 second

B) 107'%second

€ 1072 second

D) 107® second

145. Why after some time silver pots

become black ?

(A} Duc to formation of layer of
nitrate over silver

(B] Due to formation of layer of
sulphide over silver

C) Due to formation of layer of
chloride over silver

(D) Due to formation of layer of

oxide over silver

146. The best example of & disease which
is caused by Dot mutation is —

(A} Thalassemia
(B)

<)
(1)

Down's syndrome
Sickle cell anaemia

Night blindness
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147. Match the following —
Process Materials
obtained
a) Hydrogenation i) Vanaspati
b] Evaporation i) Ethyl alcahol
c) Distillation iil) Common salt
d) Polymerisation iv) Nylon
a b c d
(A) () 1) (1) (iv)
(B) (i) (iv) (1) (uiz)
€ (i) (1) fiv])
(D) (i) i) 1 fiv)

148

149,

150,

. A student sitting at the back of the

classroom cannot read clearly the
letters written on the black board. As
a science teacher which suggestion
will you give about his disease and
lens to him —

(A Myopia, Convex lens

(B) Myopia, Concave lens

(C)]  Hypermetropia, Conecave lens
(D)  Hypermetropia, Convex lens
"No two eclectrons in an atom can

have same set of four quantum
numbers” is —

(A) Bohr's law
(Bi  Aufbau principle
(C}  Dalton's law

(D) Pauli's exclusion principle

In respiration, glycolysis takes place
in—
(Al
(Bj
(C)
()

Cytoplasm
Chloroplst
Ribosome
Mitochondria

[ P.T.O.
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AT AS 3I=a9
SOCIAL STUDIES
21.

Wi F faafafen o = == ==E=m 91 Arrange the following states of India in

( T 2011 % S(aR ) ¥ s =
7 =rafe ey | 7 T F o i A
fem 7% e = T Sifaw

fearerm ¥ smre = s & — va.

s T R —
A 100 v B) = wem
[C) 50w Dy 75 wfom

et - I 79 el - 0 gim sifam oam o4

Frferian = & mft = afd -
-1 el - 11
(wmmyfmdds ) (0 )
a) wm 1. W
bl E 2. Fal=w
c) FETEEMW 3. IW WY
d) i 4, afgerg
FT:
a b e d
W 2 1 3 1
(B) 1 3 4 2
i3 2 1 4 3
m 1 4 2 3

descending order of their population
[ According to Census 2011 ). Use the
codes given below to select the correct

answer.
1.  Maharashira
2.  Uttar Pradesh
3.  West Bengal
4. Bthar
Codes :
A} 2.1.4.3
B 1.2 3 4
) 2.3.1.4
M 1.2 4,3
Brahmaputra river In the Himalayas
presents an example of —

When it rains then relative humidity in
the atmosphere is —

(A} 100 percent  (B) zero percent
[C} 50 percent (D} 75 percent
Match List - I with List - IT and select
the correct answer from the codes

givenn below ; -
List -1 List -1

( Atomic Power Plant ) [ State )
a Kaiga 1. Maharashira
bl Jaitapur 2. Kamataka
cl Kudankulam 3. Uttar Pradesh
dl Naro 4, Tamil Nadu
Codes :

i | b [ d
A 2 1 3 4
M| 1 3 4 2
) 2 1 4 3
o 1 4 2 3
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3. W=
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08 1. 2.
D) 2.3. 1.4
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A ELR
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© Hemgz L IC]
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‘Fam o -
W R fEm
B ¥ F
(C) vm EEm

(D) fernfers =t wefesl

wo A F fvs qroam Teoe § aged
R fEm = wE Wk —

() fidtas G

(B wrafor fiwm

() s fism

D) o= e

a1 wam %1 Fefsfag eosd § 4 #5-

Hi T uw g waE k7
&) T & st

(B) a4 aEm
(C) Ty A/ T
(D) =it | ity
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95. Armange the following mountain ranges

a7.

a8.

99.

from North to South order and select
the correct answer from the codes -

Karakoran
Ladakh
Zaskar

Pirpanjal

g:ﬂ-.ww—

N 1.2 3.4

B 21,34

i 3.1.2 4

M 2.3.1. 4

Which one of the lollowing pairs is not
correctly matched 7

Soil State
A Alluvial Uttar Pradesh
(B) Regur Maharashira
(C) Laterite Punjab
(Y Red and Yellow Chhaitisgarh
'Kayal' stands lor —
(A} Terai Plains
(B} Lagoons of Kerala
(C] Ganga Delia
(D) Shivalik Hills

Activity that changes raw material into
products of more value is called —

[A) Secondary activity

(B) Primary activity

(C}] Economic activity

(D} Tertlary activity

Which one of the [ollowing streams is
dominated by male migrants in India ?
(A Rural — Rural

{B] Urban — Rural

IC) Rural — Urban

() Urban — Urban

| P.T.O.
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afywan waE = ¢

. (A) ofiwiee fafy

101.

102.

103.

() = fafy

(C) wmfes-wfeaat fafy

ir:] qrfaam fafy

TEtEE FueE 1 e faew ' F
o wm e wfik ?

W ffre e = sfivms

B) =% =E § fao

(C) +rve = wesa

(D) * 9wl

sizmma g o FelEn dn ) - ==
gy s ETm k7
A 11"9m
B 10
IC) TR w1 mrE
D) Hzw= a9
qet - 1w {et - 0@ gafen Sifa qoa
w2 # it T qfa
- | ot - n
a FmEE 1. femem wEa
b) T 2. smymd oofeat
¢ wEZ 3w 3. dFm 4
d) FWEIE 4. HO=wE @4
we
a b o d
A 1 2 4 3
B 2 1 4 3
€ 4 1 a 2
o 2 4 3 1

100.

101.

102,

103,

104,

[w |

While you are teaching 'Soils of India’

in Geography. which of the following

methods will have maximum effect on

students 7

(A Project method

B) Lecture method

IC) Group-discussion method

(D) Mapping method

‘Micro-teaching cycle’ in social studies

does not consist of —

iN  Defining a specific skill

[Bl Teaching in big groups

iC) Demonstration of the skill

D) Micro-lesson plan

Which one of the water bodies

separates the Andaman islands from

the Nicobar islands 7

(& 11" channel

(B) 10" channel

iC) Gulf of Mannar

() Andaman sea

Match List - I with List - IT and select

the correct answer from the codes

glven below ;
List - T List - 11

a) Anaimudi 1. Himalayan mountain

bl Nanda Devi 2. Anaimalai hills

. Maikal Range

. Aravali mountain

(5 T ]
= kL WA

‘Flannel Board' and "Bulletin Board’
are —

Audio-visual alds

Visual aids

Audio aids

None of these

EGEE
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106.

107.

108.

T - 1 W e - nd e i T
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i
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( 3w ) ( A F=E )
al WM 1. it
bl T w= 2. i
c) T 3. mpE
d FHwew 4. Fem
L T3

a b e d
W 4 3 2 1
B 1 2 3 4
i 1 2 4 3
(D) 3 2 4 1
‘q-TYEEE! WU, YEW us oEey =
waww & 1 fomd W w0 o w0 3w
s e —
(A) Wile e firead
(B =90 wne #faw
) =7 %
(D] wEe Hte film
o 8 8 S i-wm ¥ damms 4 —
(A s mfEm
(B) # g¥=
(C) w7 i
(D) =mEn =
et - 1 w1 el - 1% Wy gafem wifm
T H BE 2 W TS w1 uet T
e

-1 et - 0

( 3umw ) ( 29 )
a) SPOT 1. YA
bl GOES 2, W
c) Meteor-3 3. +9
d) INSAT 4. Hgw M sfem
'11'1‘:

a b c d
A 2 4 3 1
| 1 2 3 4
K) 4 3 2 1
(D) 3 4 2 1

105.

106.

107.

108,

APPU-2

Match List - T with List - I and select
the correct answer by using the codes

given below :
List -1 List - 11

(Industry)  ([Production Centres)
al Jute Textile 1. Bhadohi
b)  Silk Textile 2. Ludhiana
c] Woolen Textile 3. Bengaluru
d} Woolen Carpet 4. Titagarh
Codes :

a b ] d
A 4 3 . 1
(B 1 2 3 4
< 1 2 4 3
o 3 2 4 1
'Landscape is the function of

structure, process and stages.” The
scholar who said this statement is —
A G. K, Gilbert

(B] W. M. Devis

iC) W. Penck

(D) L. C. King

Who amongst the following was the
founder of Red Cross — :

() Abraham Lincon

Match List - I with List - IT and select
the correct answer by using the codes

given below -
List -1 List - IT
[ Satellite ) ([ Country )
a) SPOT 1. India
b} GOES 2. France
c] Meteor-3 3. Russia
dl INSAT 4, USA
Codes :
a b c o
A 2 4 3 1
B) 1 2 3 4
) 4 3 2 1
D 3 4 2 1

| P.T.O.
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110,
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111.
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113.
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(B) e T A
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(C) ¥t

B) ety
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109,

110,

111.

112.

113.

| 002 |

W
Pull and Push theory' is related 1o —
Al Population growtlh
(Bl Population migration
(€} Transportation of goods

(D} Trans-humance practices

Which of the following is not a

measure of human development
index ?

(A} Literacy rate

(B) Gross enrolment
(C)
(D)

Sex ratio
Life expectancy

Who among the following created the
office of District Collector in India ?

A Lord Cornwallis
Bl
i)
(18]

Warren Hastings
Royal Commission
None of these.

The master piece of Chola sculpture,
the famous Nataraja or the dancing
Shiva is al —

A
[15]]

Tanjavur
Chidambaram
(C] Kalahasti
(D) Srisailam

During the reign of which one of the
following Mughal emperors did the art
of architecture reach its zenith ?

(A Akbar (Bl Jahangir
(C) ShahJahan (D} Aurangzeb
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117.
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1. e food
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115.

116.
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The first person Lo call 1857 revoll as
an organised war of national
independence was —
(A} V. D. Savarkar
(B) R.C.Mazumdar
il A. Q. Hume
(D} S.N. Sen
Which of the following teaching
methods of social studies i3 not a
democratic teaching method ?
(A} Lecture method
(Bl Discussion method
(C) Project method
(D) Review method
Arrange the following in ascending
chronological order :
1. Nehmu Report
2. Simon Commission
3. Gandhi-Irwin Pact
4. Dandi March.
Select the correct answer from the
options given below —
N 1.2,.3. 4
(B2 _ 2 1.3. 4
) 2.1.43

o 1.2, 4,3

Which is the most effective factor
in making classroom teaching
interesting 7

(A} Lesson plan
(B] Personality of the teacher
[C) Teaching method
(D) Subject mattér
[ P.T.O.
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LW

118. The main function of the teacher in

119.

120.

121.

social sclence teaching ts —
Al
(B)

o teach the students

point oul the mistakes of the
children

IC] to create such conditions so that

children do not commit mistakes

(D) to help the students in self

learning

‘A diagram speaks more than 1000
words.” The statement means that the
teacher should —

(A use diagram in teaching

(B) speak more and more in class

[C] use teaching aids in the class
(3 not speak too much in the class

Maximum participation of students in
teaching is possible through —

A
(B)
()
(D)

Most essential quality in social studies
teacher should be —

(A
(E3)
I
(D)

Discussion method
Lecture method
Audio-visual aids

Textbook method

Educational degrees
Personality

will power
Understanding of children
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122. Which of the lollowing statements is

123.

124.

125,

126.

127.

true aboul problem solving method ?

iA) It is child orlented

{B) It is teacher oriented
[C} It is traditional method
(D) Al of theze

Which is most important in Lesson
plan ?

(A} Teacher (B) Learner

{C) Lesson matier (D) Homework
Teaching comes under which sector of
occupation ?

(Al Primary Sector

(B Secondary Sector

[C) Tertiary Sector

(D Quatermnary Sector

The most appropriate meaning of
Learning is —

iA)  Acquisition of skills

(B) Maodification of behaviour

(C) Personal adjustment

(D) Inculcation of knowledge

Harappa is situated on which river ?
A Sindhu (B) Rawvi

([C) Jhelum (D) Suthy

The Bimbisar was reclated to which
dynasty —

A Maurya Dynasty

(B] Brihadrath Dynasty
(C) Haryank Dynasty
(D) Shishunag Dynasty

| P.T.O.
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130.

131.

132,

133.

What was the name of architectural
style of North India in anclent period ?
A  Mathura style

(B) Gandhar style

IC) Nagar siyle

(D} Besar style

Which one of following Is not a
limitation of 'unit-lesson plan’' approach
for the teaching of soctal studies ?

(A) It can be organised easily

(B} K lacks skilled teachers

€1 It inculcates unsystematic
knowledge

It leads to uneven development of
students

What was the name of the silver colns
issued by Sher Shah ?

A} Ashrafi (Bl Tanka

IC] Dama (D) Rupiya
Between whom the treaty of Salbai
{ 1782 AD ) was signed ?

(Al English and Peshwa

(B)] English and Hyder Ali

[C) English and Nana Fadnavis

(D)  English and Mahadji Sindhia

With which area, the Wood's Dispatch
related 7

(A} Forest Reforms

(Bl Revenue Reforms

IC) Education Reforms

(D) Rallway Reforms

The Vice Chatrman of
established 'NITI AAYOG is —
(Al Arun Jaitley

(B) Arvind Panagariya

iIC) A M. Khusro

(D) None of them

o)

nowly-



134.

135.

136.

137.

138.

qrA 1§ FETY GORR W W 4 —

W wE R

(@) I AEvERE

() = ¥

(D) = fwE

=9 gwiga aifufrm, 1956 §@ fFa
T T WA 99 5 TR T e
T

(A) T B 4

(C) weftE wes (D) W

dfavr 1 12 o Ay J fead ol W=
Ui & ?

(A) T TEE

(B) &= wiea wegl S HEN

(C) W =

(D} RTferERTd

wrwE w1 Tyl den F s d werrE
wien dfedl #t sfusas den feeh @
it ¥ ?

(A) 10 Wi

(B 20 wiEm

() 15 wiaem

D) 25 WA

42 o wfgwE dyieA R 54, fom, 59
wra-wra| 3 ofd = 1w, TEE w
fam et © weerafia fFm T 2

(a) =g TR @ e gl

(B) T g A e

(C) T @ A g

(D) wira g @ o O

57
134

135.

136.

137.

138.

AFPU-2

The founder of Local Government in
India was —

(A} Lord Ripon

(B) Lord Mountbatten
(C) Lord Canning

(D) Lord Macauley

On what basis were the states of the
Indian Union reorganiscd under the
States Reorganisation Act of 1956 7

{A) Population

(B) Area

[C) Strategic importance
() Language

Whose lunctions are mentioned in the
12ih Scheduls of the Constitution 7

(A} State Government

(Bl Government of Union Territory
(C) Panchayats .

(D) Municipalities

What can be the maximum number of
ministers including the Prime Minister

in proportion to the total strength of
the Lok Sabha ?

(&) 10 percent
(B 20 percent
{C) 15 percent
(D 25 percent
The 42nd Constitutional Amendment
transferred Forest, Educatlon,

Protection of wild animals and birds,
Weights and Measures 1o which list 7

{a) From Union list to State list

(Bl From State list to Union list

(C) From State list to Concurrent list
(D) From Union list to Concurrent list

| B.T.O.
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139.

140,

141.

142.

(W]
Which of the following is not a

characteristic of Parllamentary
system 7

A
(B

Caollective responsibility

Close relation between legislature

and executive
Leadership of the Prime Minister
Stable tenure of the Government

Who of the following had also held the
Office of Speaker in the Lok Sabha
before becoming the President of
India ?

(A} Dr. 5. Radhakrishnan
(B] Dr. Zakir Husain

{C)
(D)

(€] Shri Neelam Sanjiva Reddy

(D) ShriV, V. Giri

Which association was formed by
Surendranath Banerjee In 1876 7

(A Indian Association

British Indian Association

British Association

(D] Bombay Association

‘All India Muslim League' was
established on December 30, 1906
under the Presidentship of —

(4) Agha Khan

(B} Nawab Salimuliah
(C) Syed Ali Imam
(D) M. A Jinnah

g

()



W

143.

144.

145.

146.

foe= sl W 3% ufem fF F s
wa o =i wifey

1) EIER wEEw W

1y aferaiaren am TR

[1) WA AR

V) sEedm srEem e fem a

W o (m ™
(B () @ m o
@ m @y Wy (™
D) (v) (. an (o

gurey W wreta TR wiE F o6
................... ¥ sfiqn afewm § Hi

anay Fifan fsd
N 1926 B 1936
(C) 1938 > 1939

Ho T F O uies F I5TEE e £
T 5 Turl o9 T 10 3w 'S
£ 1 10 o w=E WEEm |\ g e
sy & fore o s # 2 '

(A) e =i B) ©:ud
i) = D) =i

oS T W WA A A e W
g # wrsdn dm w5 iR
& T |

10 fewm=rt, 1948
10 fesret, 1949
10 fesmwy, 1951
10 =, 1950

A

15]]
i)
(D)

143. Arrange the events in the ascending

144.

order in which they took place :

) Kakori conspiracy casc

1) Massacre at Jallianwala
Bagh
Satyagraha at Champaran
Withdrawal of the Non-
Cooperation Movement.
m o m
® a am m m
€ M un am {1V
D (V) mm an o
Subhash Chandra Bose was
unanimously elected President of the
Indian Natonal Congress in Haripura
session in —
(N 1926

iC) 1938

11
il

&

(B)
1))

1936
1939

145. The Security Council of United Nations

consists of 15 members. It has
5 permanent members and 10 non-
permanent members. The 10 non-
permanent members are elected by
the General Assembly for a term ol —

(A} Five years (B) Six years
(C) Two years (D) Three years

146. The General Assembly of the United

Nations adopted the wuniversal
declaration of Human Rights on —

December 10,
December 10, 1949
December 10, 1951
December 10, 1950
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147,

(W]
The President of India is clected
indirectly by an electoral college. The
members of this electoral college are —
[A) the members of both the houses
of Parliament
the clected members of both the
houses of Parliament and the
elected members of the Stiate
Legislative Assemblies
the elected members of both the
houses of Parliament
the members of both the houses
of Parliament and the members of
the State Legislative Assemblies

(B)

()

(D)

148. The President of India may submit his

149,

150.

resignation letter 1o the —

A} Chief Justice of the Supreme

Court

Speaker of the Lok Sabha

([C) Vice President

D} Prime Minister

The Prime Minister of India is
appointed by the President. Which

article of the Constitution of India
states that ?

(A) Article 78 (1)
(B) Article 75 (1)
[C)  Article 76 (1)
(D)  Article 74 (1)

Who decides whether a Bill is a Money
Bill or not ?

(A Finance Minister

(B) President

(C) Speaker of the Lok Sabha
(D} None of these

(1)
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13.
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14.

(2415

Question Nos, 1 to 30 are related 1o
Child Development and Pedagogy.

Question Nos. 31 to 60 are related
to First language — Hindi OR
English. Candidate has to select the
questions of only one fanguage as
the First language. Answer the

gquestions of the language which the
candidate selected as First language
in his/her application form.

Question Nos. 61 to 90 are
related to Second

Hindi OR English OR Sanskrit ﬂR
Urdu. Answer the questions of
only one which the
candidate has selected as Second
language in his/her Application
form. Be careful that the
language selected as  First
language cannot be taken as
Second language.

Question Nos, 91 to 150 are related
to Mathematics and Euhm OR
Social Studies.

The candidate has to answer the
subject Mathematics and Science
OR Social Studies as selected by
the candidate in the Application
Form.

Rough Work can be done in
specified space of the Question
Booklet.

Do not waste time in solving the
questions. If you cannot answer a
question proceed to the next one.

Do not fold or damage the OMR
answer sheet any way.

After examination submit your OMR
answer sheet 1o the invigilator,
Candidates arc allowed to take
away the carbon copy of OMR
answer sheet and Questions
Booklet.
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